ADAPTORS

EURO connectors

MINIEURO
AT0004

EURO axial
AT0001

AT0002

EURO central connectors - male

EURO Nut

EURO - AR0054 Spring pin

—_ =l

EAD128 on

EURO water - ARD052 Spring pin

EAD128 oR

EURO TW - ARDD83 Spring pin

BX0700—

' EADO18

— = BX0700

— — BX0702

e E)0223

BWO0O18 BWO0020

EAD128 oR

ny S
AR0052 water Euro body (m) 1
AR0054 air Euro body (m) 1
AR0083 Euro-Tw (m) 1
BX0700 spring pin 10
BX0702 spring pin 10
EAO128 o ring @ 4x1 NBR 10
FA0026 liner nut 10
FA0027 liner nut 10

o &
BW0018 Euro nut plastic 10
BW0020 Euro nut metal 10
BX0223 female spring 10
BX0700 spring pin 10
BX0702 spring pin 10
EA0018 screw M4x6 50

m @ CONNECTORS

Jrofimer
> rofime;

your welding partner



ADAPTORS

EURO connectors

EURO central connectors - female

EURO components

EURO axial - AM6000

EAD094 2.0 Th.
EAD0S9 0.8 Th.

AM3014...
= EAD072 M12x1.75
I EADO73 M12x1

-_- & . §

AME000 Euro body (f) AMO0034 brass guide 46 mm 5
AME001 Euro body (f) 1 AMO0035 brass guide 15 mm 5
AM6103 MiniEuro body (f) 1 AMO0038 brass guide 39 mm 5
BX0223 Female spring 10 AMO0053 brass guide 27 mm 5
EURO Housings AMO065 brass guide 35.5 mm 5
AM3001 capillary tube 88mm 10
AM3013 capillary tube 101mm 10
AM3014 capillary tube 200mm 10
AM3018 capillary tube 131mm 10
AM3065 capillary tube 124mm 10
BW0230 BW0264 AM3109 capillary tube 60mm 10
AM9001 current clamp 1
EA0072 nut M12x1.75 50
EA0073 nut M12x1 50
EA0094 washer 2mm 10
EA0099 washer 0.8Bmm 10
EA0283 hose clamp @ 10,5 10
BW0010 BW0014 EA0285 hose clamp @ 10,5 10
QB0017 black hose 5x8 (m)
QB0020 blue hose 5x8 (m)
.-lJ &i QB0025 red hose 5x8 (m)
QBo027 green hose 5x9 (m)
BW0010 Euro housing 10
BWO0014 Euro housing 2 holes 10
BW0230 MiniEuro housing 10
BWO0264 MiniEuro housing 10

ﬁ;//o 7imet

your welding partner

d@x}

7 CONNECTORS [ 149

(7]
[+
o
-
(4]
[T}
=
=
o
o
vy




CONNECTORS
Maxi - Ergoplus

MAXI Connectors
TW 1/4 - Air cooled torch kit

EURO Connectors
CLOOS - Air cooled torch kit

M12x1

iy

AR0130

TW connector (m) 1

AR0140 Cloos connector (m) 1

TW 5 - Air cooled torch kit

ESAB - Air cooled torch kit

A

ARO131 TW connector (m) 1

ARO141 Esab connector (m) 1

ESAB - Air cooled torch kit

FRONIUS - Air cooled torch kit

M12x1 M10x1
] = B —] |
mE—'— T
AR0132 Esab connector (m) ARO142 Fronius connector (m) 1

HOBART - Air cooled torch kit

NATIONAL - Air cooled torch kit

M12x1

mme

AR0133 Hobart connector (m)

N
i

ARO144 National connector (m)

LINCOLN - Air cooled torch kit

CLOOS - Water cooled torch kit

M12x1

mmg

ARO134 Lincoln connector (m)

AR0150 Cloos connector (m) 1

MILLER - Air cooled torch kit

FRONIUS - Water cooled torch kit

M12x1

@BEE[IIJE]P_

AR0135 Miller connector (m)

ARO152

Fronius connector (m) 1

NATIONAL - Air cooled torch kit

M12x1

e

AR0137 Panasonic connector (m)

L-TEC - Air cooled torch kit

M12x1

@P_

ARO139 L-Tec connector (m)

All the above names and trademarks are of
exclusive property of the respective companies.

I Py

;ﬁjfo 7imet

your welding partner



ADAPTORS

Adaptors

Kit TW - Euro
W [ O]

% S

AS0007 TW-Euro conn. (m) 1
Kit Euro - Cea

W:&
AS0015 Euro-Cea conn. (m) 1

Kit Euro - Nuova Cerso

o

R—
AS0016 Euro-Cerso conn. (m) 1
Kit Euro - Sinco
AS0018 Euro-Sinco conn. (m) 1
Kit Euro - TW
AS0019 Euro-TW conn. (m) 1
Kit Euro - Cem

b-.D
————

AS0023 Euro-Cem conn. (m) 1
Kit Euro - Esab

I ED

AS0024 Euro-Esab conn. (m) 1
Kit Euro - Hitachi

g
5 N\

AS0053 Euro-Hitachi conn. (m) 1

All the above names and trademarks are of
exclusive property of the respective companies.

gﬁjfo 7imet

your welding partner

Ay
o

(7]
[+
o
-
(4]
[T}
=
=
o
o
"\__.




	Part List 18-152
	Part List 18-153
	Part List 18-154
	Part List 18-155

